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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper Lo verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 65/ESS/4, Set—[A]| on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu. Punjabi, Bengali, Tamil. Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkan, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language vou have chosen to answer in the box
provided in the Answer-Book.

{b} If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.
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ACCOUNTANCY
A

(Principles and Practice of Financial Accounting)

(fhim @ * e W ZEer)

(320)
Time : 3 Hours] [Maximum Marks : 100
T 3 A [qUTi 100
Note : (i) This Question Paper has twe Sections - Section 'A’ and Section 'B'.
(il Attempt all questions of Section 'A’, Section 'B' has fwe options. Candidates
are required to attempt questions from ome option only.
(ii1) Each question from Question Nos. 1 to 9 has four alternatives - (A), (B),
(C) and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in yvour Answer-Book against the
number of the question. No extra time 1s allotted for attempting multiple-choice
questions.
fRoT ¢ () WU S H A B E @B W TH @S A
(i) @S ‘W & TR U B T BN T WE W H A fawen ¥ alenfai
Bl o TF fww & wsAl I 29 F
(ii) 997 91 1 ¥ 9 9% & U9 U H WX fOwed — (A). (B), (C) dar (D)

E, T 9 U waitue SwgE ¥ O fased # ¥ wE ST gF qdr st
SRR 8 Ty @ % WA SOt fae | gefamed v & R sifafem
TR & fer S
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SECTION - A
R - A

1 Which of the following statements is not related to Capital Expenditure? 1
(A) It increases the earning capacity of business.
(B) It is incurred for maintenance of fixed assets.
(C) Its benefits are spread over a number of years.
(D) It is non-recurring in nature.
= ¥ ¥ PE U9 @ G99 YNNG S ¥ T8 £ 7
(A) I% TIEE Bl T U q9aT § ghg Har &
(B) % wdl ol & @-T@a % g R s ¥
(C) 3T%I @9 %3 I db Hedl &l 81
(D) I% sHEc® UPHid & el §l

2 In the absence of Partnership Deed interest on loan is charged at the rate of: 1

TERT oG &1 SRt § F01 9 S YA BT ®I 3T BA:

(A) 10% (B) 8%
(C) 6% (DY 12%
3 Which of the following is not a feature of partnership? 1

(A) It is formed by an agreement between the persons who agree to carry on
business.

(B) The partners agree to share profits in the agreed ratio.

(C) No partner can transfer his/her share to any one without the consent of
all other partners.

(D) The liability of each partner is limited to his/her share of profit in the firm.

=1 & ¥ BF @ AERrd @ fagar T8 &7

(A) 3UH T I URERT & U UH GG ° SIA1 § 9 UF =EGE™ 9dq & g
TEAd 3U |

(B) ®ERR @l @ frawe uw M e § #9 w gend B ¥

(C) =% 9 AERR SO SiyT/feg B o= AIsiE B HEatd & &9 TR st afe
@ FEATLOT TE BT FehelT |

(D) W% TIRER & A H F had W & SHE Y 9% Hihd B £l
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4  When the capital of partners is fixed, current account of partners are opened 1
to record all adjustments.

Which of the following adjustments is recorded on the ‘debit side' of partner's
current account?

{A) Interest on Capital

(B} Interest on Drawings

(C) Salary

(D) Profit and Loss Appropriatioan A/c (Share ot Profit)

T TRER B YN Re) SR E, O W WH B TSl BT T B b U Sl
| W G AR E | R OH e @ e Sl AiEte R % 9% @ %
Rk S et 1

(A) doit TT =T

(B) @z T =t

(C) ==

(D) @Y T T aF=eE @ (@ s e

S Sacrificing Ratio is calculated as: 1
{A) New Ratio — Existing (old) Ratio
(B} Existing (old) Ratio — New Ratio
(C) Existing (old) Ratio — Gaining Ratio
(D) Gaining Ratio — Existing {(old) Ratio
T ST B O B E -
(A) a1 SFIURT — T (O ST
(B) M (JUC) SO — T ST
(C) =M (JUM) ST — ST ST
(D) S g — A () S
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6  Court may order a partnership firm to be dissolved in which of the 1

following cases ?
(A) When a partner transfers his/her interest in the firm to a third party.

(B} When one of the partner gives a notice in writing to the other

partners.
(C) When the business becomes unlawful.

(D) When all the partners excepting one decide to retire from the

firm.

e o @ e Rafa & <o GeErl w9 % FENE 6T SR 3 gehdl § 7
(A) w19 FE FFE B § o & e Sy e @ swiaid B 9
(B) W B TH GEET o WRE @1 fitad gE 2

(C) 99 =™ fR-arAl & T e

(D) 99 %W s GRER B BIEEGC qMip 99 9EER BY ¥ 99ty O
arEd B

7  Which of the following statements is not related to a 'Public Compnay'? 1
(A) There is no restriction on transfer of its shares.
(B} There is restriction on transfer of its shares.
(C) Tt can invite public to subscribe to its shares.
(D) It must have at least three directors.
e & F B W BUT WEATE FA T Gt T T 7
(A) 3T% gl & TEIEL UX &3 wiaEy TE S
(B) 38 a9l & wxaiaeer UX Wiqde EiT ¥
(C) =E waT # ofvEM % U P HT awar ¥
(D) 389 %9 ¥ &9 A MR o Sifea ¥
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8 A company not having any limit on the liability of its members is called: 1
{A) Company limited by Shares
(B) Company limited by Guarantee
(C) Unlimited liability company
(D) Company created under Section-25
el wrl ress gel % il @ w @ i 9168, wwe ¥
(A) ofer ZI Hif B
(B) T BRI Hithe we
(C) it TRl we
(D) = 25 % orand ue e

9  The debentures which can not be converted into shares of the company are 1
known as:
{A) Redeemable Debentures (B) FEirst Debentures
(C) Registered Debentures (D) Non-convertible Debentures
U9 %oMa [ FmA & il o uikatdq. el fohar o1 Toar &, wEan §
(A) 9liem o (B) ToT FTaA
(C) uelipa FoTa= (D) SraRERE FoTI
10 State any three objectives of preparing ‘financial statements'. 3

Tadia oo da & & el dF Sl W Ied g |

11 Differentiate between 'Receipts and Payments Account’ and 'Income and 3
Expenditure Account' on the basis of :
(A) Side
{B) Closing Balance
(C) Capital and Revenue items
TG TE YA WA T A iR g wir o R Sl uX ST Hie
(A) w&
(B) sifem g
(C) Iotrma a1 amm o3
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12 Explain the 'treatment of goodwill' in the following cases at the time of 3

admission of a new partner:

(i) When a new partner brings his’/her share of goodwill in cash and the

amount of goodwill is retained in the business.

(i1} When a new partner does not bring his/her share of goodwill in cash.

ol T 9RER & Wy & gag e okl § et = dwe 9eens

(i) 9 747 UEER o9y R Y T B Sy Gas ¥ wad o T afR S| i
B HIGE H W@ a9 S g

(i) w9 7O RER o W @ wld @ Uss ¥ el @l

13 On 15" April, 2019 a company purchased plant and machinery for ¥ 2,00,000. 5
On 15t January, 2020 it purchased a new machine for ¥ 10,000 and on
15t October, 2020 another machinery was purchased for ¥ 20,000. On 15t July,
2021, a part of the machine whose book-value was ¥ 30.000 on 15t April. 2019
was sold for T 16,000. Depreciation on plant and machinery is charged @ 10%

p-a. on straight line method. Account books are closed every year on 315 March.

Show the Plant and Machinery Account from 15t April, 2019 to 315t March,
2022.

1 378, 2019 &I us F A T 2,00,000 ¥ T @i @ 7900 @A | 1 S|l 2020
@t T 10,000 H 0% 73 AT @R o 1 amrzaz 2020 %1 T 20,000 ¥ 0% i wsi
GAEN 1 qomg, 2021 & weE @1 U e e gew ged 1ossw, 2019 @
T 30,000 am, T 16,000 ¥ 99 femm T wWie w@ #sE WX 10% aiitie 3T |
TIA @1 ISR F S Bl T0ET B T @ (b yigay 31 6 @ dw @b
AT E

1 a0, 2019 & 31 9/, 2022 9% & w@ie T8 990 @ §95d |
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14 Prateeck who keeps his books on Single Entry System, tells vou that his 5

capital on 315" March, 2023 was ¥ 1,30,000 and on 315t March, 2022 was
< 1,25.000. He has withdrawn ¥ 12,000 for household expenses. He sold his
investments of ¥ 5,000 on 10% premium and brought that money into the

business.

You are required to prepare a Statement of Profit and Loss.

WAl S SO YEdh ‘U A AT TS | 7@l 8, STe! aann 6 31 W, 2023
@0 I8! guir T 1,30,000 & 6 31 A", 2022 @ @@ gair 3 1,25,000 471 384
R Ed & faw T 12,000 amsfa feul 3o emw T 5,000 % FrEer & 10% diftew
T JEht 39 TR B FaEE § &

TR IGHT ATH—BIT e g & &

15 Nikhil. Pooja and Reema entered into partneship on 15t April, 2022 to share 5

profits and losses in the ratio of 5:3: 2. Nikhil guaranteed that Reema's
share of profit after charging interest on capital @5% p.a. would not be
less than I 35,000 in any year. Their capitals were Nikhil - I 4,00,000;
Pooja - T 2,00,000 and Reema - ¥ 1,00,000. The profits for the vear ended
March 315, 2023 was I 1,60.000 before providing interest on capital.

Prepare Profit and Loss Appropriation Account for the year ended 315 March,

2023.

i, qom ok T 1 o, 2022 @i |msErd o wiE gu) I9@ aH-i e
U 5:3:2 am frfae 3 don @ gw aeedt 1 @ el O o % A # sEe
T O T 5% 1 X & = 3 % 9w % 35,000 & &9 T8 SRl I Oeh
g1 : fiaw - T 4.00,000; g — ¥ 2,00,000 3 &1 — ¥ 1,00,0001 31 wrd, 2023
B TATG B A a9 & AT O WX = a9 § ued @ < 1,60.000

31 9, 2023 & 9 BW 9 99 & T w—eity R @ dar ST
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16 Amita, Benu and Cheenu are partners sharing profit and losses in the ratio 5
of 3:1:1. After the final accounts have been prepared, it was discovered
that interest on drawings (@ 5% p.a. had not been taken into consideration.
The drawings of the partners were:

AMItA.vreiineiireenee, T 1.00.000
Benu ..oeevrecveivreene. 0 75,000
Cheenu ....evvvvveenne. 0 50,000

Give the necessary adjusting journal entry. Show your working notes clearly.
i, S SR A amEr E S 30101 F Sgud ¥ Ar-si H REee w3 §
Hiem @ T % UG TE T 5T {6 AR T 5% efven aX W T Ae| wnma
T ¥ | WIEERT % eI o -

S S % 1.00,000
5 S T 75,000
51 GRS Z 50,000

TS FHESH & o s wfarr Sfww ) s &l ool o wear 9 uehiia
BT

17 Differentiate between 'Equity Shares’ and 'Preference Shares' on any five 5

basis.

O 3igTl I qETUHTd SiSi 6 S el uid ofum uY Sfat Bl

18 D.L. Ltd. forfeited 800 shares of T 10 each, issued at a premium of 30% for 5
non-payment of allotment money of T 5 per share (including premium) and first
call of ¥ 2 per share. The second and final call of ¥ 2 per share has not yet
been called. Out of these 200 shares were re-issued as fully paid-up for I 11
per share.

Pass necessary journal entries for forfeiture and re-issue of shares.

. T T 10 ws & 800 stg1 = 30% Wittem wx Frifig feam mar «an, T5
TR 3797 B A TR (it afAfaa) T 3 2 9id sist &1 T&™ Jresn TR & e
T HE I AR B A T 2wl ster # fEdw 9 eifqm areen qidr onf Wt @
@ AN T g 200 siet ® T 11 ufa sfer gof wem g friftna @ femm mm)

el & Soa FHE SR O Frif w3 & smayss A gfafeat i
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19

20

Prakash Ltd. purchased assets of ¥ 1,92.000 and issued 10% debentures of
T 100 each to vendors for purchase consideration.

Pass necessary journal entries in the books of Prakash Ltd. if debentures were

issued:
(i) At par
(ii} At a premium of 20%
(ii1) At a discount of 20%
Show the calculations of number of debentures issued clearly.

el T ¥ T 1.92.000 &1 Sufaai g & qur faharst & g Ukawd % ®9 9
T 100 w&& & 10% Foros Feife feg o)

TeRIST f. o Tenl § Sraede Tt yiaftedt it af g7 sorst at feife e
TR

() I W
(i) 20% % Wiftem T
(iii) 20% & T W
OIS BT HEAT BT TUAT B WAl F TR BT

R. K. Ltd. invited applications for issuing 20,000 shares of ¥ 100 each.
The amount was payable as follows:

On Application ..........cccoeeeee. T 40 per share
On Allotment .........ccoeeveeereennenn, < 30 per share
On First and Final call............. ¥ 30 per share

The applications were received for 35,000 shares. Applications for 5,000
shares were rejected and pro-rata allotment was made to remaining applicants.
Money overpaid on application was utilised towards sums due on allotment.

Rohan to whom 2.000 shares were allotted failed to pay the calls money.

Pass necessary journal entries to record the above transactions in the books of
the compnay.

6
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ame. %. f. 3 T 100 v&@® % 20,000 sis1 Frifa fra)
TRT & A A TR 3 e

31 C ot = ORRNRU T 40 wfg aigr
FTFET TT i, T 30 ufq sfer

weq § AT AreAT Ul T 30 wig afar

21

35,000 stoff & fAQ oTET o1 g1 5,000 sigh & e &l 1§ & & T e
HqIp ATHTTRI BT ATIINH ATETT U TG ThaT 77| AT UX YT STiea i
W WENT AT YT oF T & {9 fmar T

TE e 2,000 sisti &1 ST I o, ARET U & TaA HE H Taqh @l

FHI B TS SUUERT WA B T B b AU AEG9E T yrareat

EAIE L

From the following Trial Balance of Shakti Traders, prepare Trading Account, 10
Profit and Loss Account for the year ended 313 March, 2023 and the Balance

Sheet as on that date.

Trial Balance of Shakti Traders as on 315t March 2023

Particulars Amount (%) | Particulars Amount )

Dr. Balance Cr. Balance

Purchases 2.75.000 | Sales 5.20.000

Returns inward 15,000 | Returns outward 9,000

Carriage 12,400 | Creditors 62.000

Debtors 1.10.000 | Commission 1.000

Printing and Advertising 10,500 | Capital 2,00,000
Opening Stock 36,000
Cash in hand/Bank 15,900
Drawings 15,000
Salaries 2.200
Fixed Assets 3.00.000

7,92,000 7,92,000
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Adjustments:

(i)  Stock as on 315t March, 2023 was T 60,000.

(1) Depreciate tixed assets @ 10% p.a.

(iii) Commission earned but not received amounts to I 400.

(iv) Interest on capital is allowed @ 10%.

(v) T 900 is charged as interest on drawings.

TR ¢ % FrAfaiga daue € 31 | 2023 w1 8919 &89 9 a9 % g

AR G, WY-Bi @ar 9 g9 9t @ Rafy e dar Sikm)
TR 338 |1 Tee 31 W 2023 |

T wiier () | faeo T )
N T S
wa 2,75,000 | femma 5,20,000
aTiats aragr 15,000 | amar o 9,000
ST 12,400 | 9= 62,000
IR 1,10,000 | wise 1,000
B 9 fagme 10,500 | g=ir 2,00,000
ity =id 36,000
T Uhs/d® 15.900
FIETT 15,000
ERE 2,200
W "ataar 3,00,000
7,92,000 7,92,000
AN

(i) 31 7\, 2023 @ ww T 60,000 o |

(il) T gutaal X 10% s 2T | B @) TOFET B S|

(iii) o9 IURTT HHEH T 400 T
(iv) s T 10% aifiies 3T & =1 faar s
(v) ameer 9T T 900 %1 = gy frar S|
OR / st
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Following is the 'Receipts and Payments Account’ of Modern Club for

the year ending 315t March, 2023.

Receipts and Payments Account of Modern Club
for the year ending 315 March, 2023

Receipts Amount ) | Payments Amount ()
To Balance b/d 2,300 | By Salaries 24.000
To Subscriptions 56,400 | By Sundry Expenses 3.600
To Interest 300 | By Investments Purchased 30,000
To Donations 6,000 | By Newspapers 750
To Miscellaneous Incomes 430 | By Balance ¢/d 7.180
To Sale of Grass 100

65,530 65,530

Additional Information :

(i)  Subscription outstanding on 315t March, 2023 was T 6,000.
(ii) Salaries outstanding on 31 March, 2023 was ¥ 2,500.
(iii) Depreciate furniture by 20% p.a.

(iv) On 315" March, 2022 the club had investments worth ¥ 12,000 and
furniture T 10,000.

Prepare 'Income and Expenditure Account' for the vear ended 315 March,

2023 and a 'Balance Sheet' as on that date.
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22

A= 31 9, 2023 H g9 B AW 99 % fU AR /e @ mia 1| e @

o ¥
TREA ¥ H MR T P "W 31 9 2023 Foae o F

it T ®) | g 7tar ()
S A W 2,300 | 3= 24.000
g 56,400 | fafaer =g 3.600
= 300 | Fras wa 30,000
Ei| 6.000 | FAmETT = 750
fafay e 430 | 99 o & ™ 7,180
I @ fenha 100

65,530 [ 65,530
A gE

(i) 31 =, 2023 = arEw °@qr T 6,000 o1

(iiy 31 =, 2023 @ aEm Faq T 2,500 e

(i) wAET W 20% aibE T § TE a2
(iv) 31 99, 2022 # @9 % Fay T 12,000 T wAEe % 10,000 79 & g1

31 9/, 2023 %1 guTd 89 a9 99 % U ‘sma—emg @rar S 39 ot w0 Rufa

feraoor dare @it

Prem, Kumar and Aarti were partners sharing profits and losses in the 10

ratio of 5:3: 2. Their Balance Sheet as on 315! March, 2023 was as under:

Balance Sheet of Prem, Kumar and Aarti as on 315! March, 2023

Liabilities Amount (%) | Assets Amount (%)
Capital: Building 2.25.000
Prem 1,50,000 Plant & Machinery 55.000
Kumar 1,00,000 Investments 20,000

Aarti 50,000 3.00.000 | Debtors 25,000
General Reserve 60,000 | Stock 35,000
Sundry Creditors 20.000 | Cash 20,000
3,80,000 3,80,000

15

65/ESS/4-320-A |
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On the above date Kumar retired from the firm. The terms of retirement were

as follows:

(i) The Goodwill of the firm was valued at I 1,40,000.
(ii}y Stock was revalued at I 34,000.

(iii) Building was revalued at I 3.00,000.

(iv) Investments were sold at a profit of ¥ 5,000.

(v) There was an unrecorded creditor of ¥ 4,000.

Prepare Revaluation Account, Partners' Capital Accounts and Balance Sheet of

the firm after Kumar's retirement.

T, PARX 9 AT WERIK &1 9 A-21 & faumee 5:3:2 agua ¥ & 2
31 |, 2023 & 39 Rufy faer = aer @

™, T AR o W fafy fae 31 9, 2023 &

LRI wisnt ) | wwufaar T (%)
gt EEL 2,25,000
el 1.50.000 @ q AL 55,000
FUX 1,00,000 e 20,000
SIEGI| 50,000 3.00.000 | =R 25,000
qH §94 60,000 | =i 35.000
faferer weR 20,000 | I3 20,000
3,80,000 3,80,000
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Iqded fafs @ A 3 v ¥ ¥ fgfe @ o g9 el B ool e e

(i) wH H =R W gt X 1,40,000 fear

(i) =& @ T 34,000 9 YHwiTna fHm =

(iii) weT @ T 3,00,000 9T YAHgAiRa fmar Tl

(iv) Traer = fama T 5.000 & w9y 9 T m)

(v) T 4,000 & d=eTe afafaa 9

qAHrEB T, WEER & Yol W T PAR D gaTgra & 915 BH @ Rt @

T M|

OR / 3y

Rohit, Mohit and Sonu were partners in a firm. On 315 March, 2023 they

agreed to dissolve the firm. The Balance Sheet of the firm as on 315 March,

2023 was as follows:

Balance Sheet of Rohit, Mohit and Sonu as on 315t March, 2023

Liabilities Amount (%) | Assets Amount (%)
Creditors 50,000 | Bank 25.000
Bills Payable 15.000 | Debtors 30,000
Loan 20,000 | Stock 20,000
Capital: Furniture 15,000
Rohit 1,25,000 Land & Building 2,45,000
Mohit 75,000

Sonu 50,000 2,50,000
3,35,000 3,35,000

65/ES5/4-320-A ) 17
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The assets and liabilities were settled as tollows:

(i) Debtors realised ¥ 25,000 and creditors and bills payables were paid at

a discount of 10%.

(i} Stock was taken over by Sonu for ¥ 15,000 and Land and Buildings

realised ¥ 3,00,000.

(iii) Furniture was sold for ¥ 12.000.

(iv) There was an unrecorded asset of I 1.50,000 which was sold for
T 1.00,000.

(v} Realisation expenses were I 6,000,

Prepare Realisation Account, Partners' Capital Accounts and Bank Account.

e, #ifed ofit 91 % B9 ¥ 9ER A1 31 9, 2023 ® 3 B9 B g9 B

T TEEd g0 31 |, 2023 # wF @ Rafa fygwer e g e

Ufea, Afga A q w0 Rl feeor 31 w1, 2023 i

Taam Tt ) | wefai i )
R 50,000 | 9% 25,000
T4 fau= 15,000 | S_R 30,000
Eadl 20,000 | €= 20,000
TS HTER 15,000
fea 1,25,000 iy S W 2,45,000
it 75.000
T 50,000 2,50,000
3,35,000 3,35,000
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guftal i <gamstl &1 Fues Fe ger ga

(i) e ¥ ¥ 25,000 99¢@ T qA AL G 27 fausi & ymaE 10% 98
T TR T

(i) @ A T 15000 # =fe & forar qan gt 3 w57 € T 3.00,000 &1 g
T

(iii) WA T 12,000 ¥ F=r TR

(iv) T 1,50,000 @ us sifafea dufa & £ T 1,00,000 § =1 @0
(v) 6,000 =g =@ |

TEA! WM, W & Yol @R 9 I @ar JGT B
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SECTION - B

e —
OPTION -1
e i |

(Analysis of Financial Statements)

(frdf faeon =1 fgson)

23  Give the meaning of 'Analysis of Financial Statements'.

Tadg fqaeen % faseuor &1 a1 g

24 State any three limitations of accounting ratios.

‘Wi A’ B R I dell @ I B

25 (a) Calculate 'Gross Profit Ratio' from the following data:

Amount ()
SAlES oot neeenens 3,30,000
Sales REtUrns ..o.covvvivveiiviiiiiiiviieeiieviieviieeeien e 30,000
Cost of Revenue from operations .............. 3,00,000

(b) Calculate 'Debt-Equity Ratio' from the following data:

Amount ()
Total ASSEtS . ..ccoveiiiiiiiiiiiie et 4,20,000
Total Debts ..o 3,00,000
Current Liabilities ...coovvevieerieeriierieerieerieeriene 1.00.000
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(a) T siwsl @ ‘T @9 U & T BT

i ()
B e 5,30,000
IR A 30,000
TOAT § G B AT oo 3,00,000

(b) T rfeeel & “HOT-|EAT AT @ o IR

st ()
T TR ..o e 4.20.000
T T oo e e nes 3,00,000
TR ST oo 1,00,000

26 Prepare Comparative Statement of Profit and Loss from the following:

Particulars Note 315t March | 318t March
No. 2023 ) 2022 )
Revenue from operations 15,00,000 10.00.000
Employee benefit expenses 10.00.000 8,00,000
Other expenses 60,000 1,00,000
frretfafea & gammems am-eii Reror R ik
™ e 31 9= 31 9
. 2023 ) 2022 )
qiEeE ¥ ™ 15,00,000 10,00,000
HHAR WH = 10.00.000 8,00,000
T = 60,000 1.00,000
65/ESS/4-320-A ] 21
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27 X Ltd. made a profit of ¥ 5,00,000 after considering the following items:

Amount (%)
(1) Goodwill written oft ..., 5,000
(i1} Depreciation on Fixed Assets .........ccccoeceeeenee. 50,000
(ii1)) Loss on sale of machinery ..................ocoeeei. 20,000
(iv) Gainonsaleofland ..........ccccoveiiiiiiiiineennen. 7,500
Additional Information :
31-3-2023 31-3-2022
Amount (3) | Amount X)
Trade Receivables 78,000 52,000
Prepaid Expenses 3,000 2,000
Trade Payables 51,000 40,000
Outstanding Expenses 20,000 34,000

Calculate 'Cash Flows trom Operating Activities'.

T 1. 9 e 18 o wwH A @ % 9e T05.00,000 & Ay siia fear

T R)
(i)  STYRTRIT B TS BT .ol 5,000
(i) T FORTE T BT oo i, 50,000
(iii) FoT o Tersba TT BT oo 20.000
(V) A E BT TT AT e 7,500
HiafEm g
31-3-2023 31-3-2022
i ) T ®)
YT qr 78,000 52,000
EEd @ 3,000 2,000
YR 3 51,000 40,000
T = 20,000 34,000

‘g BhaTeT ¥ s A’ & TUET BT |
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OPTION - 11
i — 11

{(Application of Computers in Financial Accounting)

(FrgEX &1 A T q SR

23 Define a 'Data Base'. 1

T 99 & G HifAg

24 What is a 'Pivot Table'? State any five advantages of Pivot Table for the 3
benefit of users.

IFAE BT

25 While performing calculations in Excel sheet explain : 5
(a}) How cells are merged? Also state the choices for merging cells.

{b) How to align the cell contents? Also state any four options for alignment

of cell contents.

TR e aX oA e & fae gasmsd

(a) vl B Tqwa &9 fopar ST & 7 W1 & 9E o Iw@ ST 6y faea
% 0 fabea Suwey ¥

(b) UHS WU B GG HH ToraT TIGT B 7 WA B WhTSS U S & {00 SUwed
el O fasedl & I BT
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26 Give the meaning of 'Pay-roll Accounting'. State any four components of

deductions used in Pay-roll Accounting.
V-t Wi w1 oref IR ) R SR o Yge sl % Reel art gedt w1
ITE BT |

27 Explain any three advantages of using Graphs/Charts.

GGG & TA % B3 AT A oA |
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2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper Lo verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 65/ESS/4, Set—[B] on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu. Punjabi, Bengali, Tamil. Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkan, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language vou have chosen to answer in the box
provided in the Answer-Book.

{b} If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.
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A SR
1 gdendi 95795 & TR Y I AT ATHAS o7asy fored |

2 U WSA-UF B W o 6 UsT-US % Fd gsSf aur ugHi S & W ¥ fae wem
U % HId S BW T IH A F S W T A {6 ueT wiw w1 A T

3 IO-gfam § wan-fas e stuen Midw wel & ofafea w8 0 sTmHie e WY
e B Y BETET S|

4 U STR-gRAE T U9 B s qen 65/ESS/4, de-[B] fad |

5 (@) 9T-U daw welyeiTsn Team ¥ ¥ e o), ot onw 9 @ e & 7E e 1 o
¥ IR T ued ¥

ssh, Bl o, domE, &, at, Seaes, e, dE, 938, SReEn, IR,
i, AT, o, U, By, da o R

P STX-gRaeT ¥ Ru o arem o fad ®6 e frw ww § oo e w ®

(@) afy o & wd ofuet & arfafieg fFRl o T o Sox o ¥ @ wesl & auee
¥ 29 awtt Ffeat / wafaal w R Faa smear e
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ACCOUNTANCY
A

(Principles and Practice of Financial Accounting)

(fhim @ * e W ZEer)

(320)
Time : 3 Hours] [Maximum Marks : 100
T 3 A [qUTi 100
Note : (i) This Question Paper has twe Sections - Section 'A’ and Section 'B'.
(il Attempt all questions of Section 'A’, Section 'B' has fwe options. Candidates
are required to attempt questions from one opfion only.
(iit) Each question from Question Nos. 1 to 9 has four alternatives - (A), (B),
(C) and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in yvour Answer-Book against the
number of the question. No extra time is allotted for attempting multiple-
choice questions.
fRoT ¢ () WU S H A B E @B W TH @S A
(i) @S ‘W & TR U B T BN T WE W H A fawen ¥ alenfai
Bl o TF fww & wsAl I 29 F
(ii) 997 91 1 ¥ 9 9% & U9 U H WX fOwed — (A). (B), (C) dar (D)

E, T 9 U waitue SwgE ¥ O fased # ¥ wE ST gF qdr st
SRR 8 Ty @ % WA SOt fae | gefamed v & R sifafem
TR & fer S
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SECTION - A
Hog —

1  Which of the following statement is not related to 'Revenue Expenditure'? 1
{A) It increases the earning capacity of the business.
(B) It is incurred for the maintenance of fixed assets.
(C) It helps in maintaining the earning capacity of the business intact.
(D) Its benefits accrue only in one accounting year.
fr & & & 91 YT 9TH @a ¥ gEiE T8 E 7
(A) It TIE™ Bl TN TUSH AT § ghg HYar 51
(B) O T gutadl & T@-T@E & oy fmar wmar ¥
(C) I% =IIa™ @l AT SUEH 9T ® 990 W@ § GERE ol 8|
(D) 3THI @Y I U A@HhT 99 B iy & 0 =@ F

2 The debentures which can not be converted into shares of the company are 1
known as:
{A) Redeemable Debentures (B) First Debentures
(C) Registered Debentures (D) Non-convertible Debentures
U HOOS [ HE o Sl o uiaiia el e S g ¥, wEa § o
(A) 9= g (B) weq FomaS
(C) dsipd FoTa= (D) smtead=a FoTas
3  Which of the following statements is not related to a 'Public Compnay'? 1

{A) There is no restriction on transfer of its shares.
(B} There is restriction on transfer of its shares.

(C) Tt can invite public to subscribe to its shares.
(D) It must have at least three directors.

= o ¥ B W BUH et BT W SEg T8 e
(A) 39 oisT & XA W BE ThEy T8 |

(B) 36&% ofelf & TEOXO WX WSy ST ¥

(C) =E waT # ofvEM % U P HT awar ¥
(D) 389 &9 § ®F dH M9 21 aifard )
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4  Sacriticing Ratio is calculated as: 1

(A) New Ratio — Existing (old) Ratio

(B} Existing (old) Ratio — New Ratio

(C) Existing (old) Ratio — Gaining Ratio

(D) Gaining Ratio — Existing (old) Ratio

R AT DI IO BT & -

(A) a1 SFIURT — T (O ST

(B) oM (U STYYI — T ST

(C) wdar (qTr) ST - S sy

(D) arfeema s — I49E (G ST

S A company not having any limit on the liability of its members is called: 1
(A) Company limited by Shares
(B} Company limited by Guarantee
(C) Unlimited liability company
(D) Company created under Section-25
UHl w1 TS qawn & S @ B den (i 1@, s ¢ o
(A) Sl ZIO AvE B
(B) TRZT grq wifde el
(C) ST el S
(D) 4 25 & g Xaa e
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6  When the capital of partners is fixed, current account of partners are opened 1
to record all adjustments.

Which of the following adjustments is recorded on the 'debit side' of partner’s
current account?

{A) Interest on Capital

{B) Interest on Drawings

(C) Salary

(D) Profit and Loss Appropriatioan A/c (Share of Profit)

ST AR B YE Ry 2 &, O i e % sErieEt @ s $ 6 e s
e e e e ¥ ¥ 8 e @ s @ i aEer % 9 9| &
A9 ug H B A F?

(A) ol X =

(B) e 94X =\

(C) =@

(D) @™ 9 T+ fa=ae= @ @ & sl

7  Which of the following is not a feature of partnership? 1
{A) Itis formed by an agreement between the persons who agree to carry on
business.
(B} The partners agree to share profits in the agreed ratio.

(C) No partner can transfer his’her share to any one without the consent of
all other partners.

(D) The liability of each partner is limited to his/her share of profit in the firm.

= 7 A ®F @ AEEi W fasar T2 g7

(A) THHI TS I GEERT & AE Uk U § S & O U AdqdE 9 e &% g
TEad 7u ¥

(B) wERR @i &1 fovr uw Mg egee ¥ 9 9T gehd B E

(C) @i 1 URRR U7 Siyn/fEa ® o ARRRl B TEA & & R o e
W EEIILOT TEl BT Hebell|

(D) weie TEER % e BY H hael WY % SHe Sy a6 A B §l
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8 In the absence of Partnership Deed interest on loan is charged at the rate of: 1

TERT oG & STRAfT § F01 9 N YRGBT ®I 3¢ BAM:

(A) 10% (B) 8%
(C) 6% (D) 12%
9  Court may order a partnership firm to be dissolved in which of the 1

following cases ?
(A) When a partner transfers his/her interest in the firm to a third party.

(B} When one of the partner gives a notice in writing to the other
partners.

{(C} When the business becomes unlawful.

(D) When all the partners excepting one decide to retire from the
firm.

= o ¥ fpu Rufg § <raea 9ierl B 6 GEI9T @ SIEeT § 6l € ¢
(A) IS FF A B H oo R Ree dEe uet @ s ®Y 3
(B) W9 ®E UF AERR 3 GEERI B ad gu g |

(C) 99 e -1 & T

(D) 91§ haW Uk WHE Bl BISHT b TH e BF  qaga s
A B |

10 Give the meaning of 'Provisions'. State any four general rules in creation of 3
'"Provisions’.
‘gragrEr w1 oot AR TEEEl F ger & R 9R g el B sww
BT |

11  Ditferentiate between 'Receipts and Payments Account' and 'Income and 3
Expenditure Account' on the basis of.
{A)Y Nature
{B} Opening Balance
(C) Adjustment
T T PAE @ ok e 9 =9 ' H e smuard ut et @il
(A) Wl
(B) WitH& 9w
(C) wuEe
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12 At the time of retirement of a partner for settlement of his account certain 3
amount is due to be paid to him/her as per partnership agreement and certain
deductions are made from the balance of his/her Capital Account. State any three
amounts which are due to be paid to the retiring partner and any three amounts

of deductions to be made from the balance of his/her capital account.

UEEN & YAgh & g9 GRErd 0s & dga SHh $8 WA & Y
HC BT & T 36F Yol @A & 99 § FY BAqAr B Sy &1 vh B A=
TRE 1 SerE ST e e daniga gRER ® 39 2 37 ST a1 St
& N s B frer i sEe Ye w99 ¥ @ @ s

13 Nikhil, Pooja and Reema entered into partneship on 15t April, 2022 to share 5
profits and losses in the ratio of 5:3:2, Nikhil guaranteed that Reema's
share of profit after charging interest on capital @5% p.a. would not be

less than I 35,000 in any year. Their capitals were Nikhil - I 4,00,000;
Pooja - ¥ 2,00,000 and Reema - I 1,00,000. The profits for the year ended
March 31%, 2023 was T 1.60,000 before providing interest on capital.

Prepare Profit and Loss Appropriation Account for the year ended 315 March,
2023.

ffea, g ok T 1 of|, 2022 & gEE o 9RE g0 3@ A3 e
I 5:3:2 an) T I @ wE e & @ R o a¥ & @ § SEe
AN Gl 9T 5% <% X § oA o % 9] < 35,000 | HW Tl A ITn! Gt
g1 : fiaw - T 4.00,000; g — ¥ 2,00,000 3 &1 — ¥ 1,00,0001 31 wrd, 2023
H T T T 99 F e g 9 e A ¥ ge @ T 1,60,000 @)

31 |, 2023 ® gurd TR A 99 % U ArH—s1N abEeT @ aar s
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14 Amita, Benu and Cheenu are partners sharing profit and losses in the ratio 5

of 3:1:1. After the final accounts have been prepared, it was discovered
that interest on drawings (@ 5% p.a. had not been taken into consideration.
The drawings of the partners were:

AMItA.vreiineiireenee, T 1.00.000
Benu ...ooovioveivene. I 75,000
Cheenu ....oocevveevveeeee. T 50.000

(Give the necessary adjusting journal entry. Show your working notes clearly.
ST, 9 IR AN WERR £ S 30 1: 1 % g § WIS BT faHe i
i @ FH b T TF A N fob SR X 5% aMiien X W W Al @an
T ¥ AERRT % AT & -

FTET e T 1.00.000
i (TR T 75,000
5 i TR Z 50,000

ATAYTH FHAN & T o wiefy SIRTe | et o feomi o weear 9 weisa
EAIE L

15 On 1% April, 2019 a company purchased plant and machinery for ¥ 2.00,000. 5
On 15! January, 2020 it purchased a new machine for ¥ 10.000 and on
15t October, 2020 another machinery was purchased for ¥ 20,000. On 15t July,
2021, a part of the machine whose book-value was ¥ 30,000 on 1% April, 2019
was sold for ¥ 16,000. Depreciation on plant and machinery is charged @ 10%
p.a. on straight line method. Account books are closed every year on 315 March.
Show the Plant and Machinery Account from 15t April, 2019 to 315t March,
2022.

1 @i, 2019 =i ws w91 7 ¥ 2,00,000 ¥ U @ie 9 990 @i | | st 2020
w1 T 10,000 9 us 75 79 @@t $C 1 a@zay 2020 &1 % 20,000 ¥ & i) 7l
GAEN 1 qomg, 2021 & weE @1 U e e gew ged 1ossw, 2019 @
T 30,000 ar, T 16,000 o s9 @n w@m) w@ie @ 9E W 10% afie T @
T @ IS I I A AT H A wEn [ yiaay 31 9 @ g7 @
A 2|

| edie, 2019 & 31 ==, 2022 @& @0 Wi Td 99 @ §9Ed |
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16 Prateck who keeps his books on Single Entry System, tells vou that his 5

capital on 315t March, 2023 was T 1,30.000 and on 315! March, 2022 was
T 1.25,000. He has withdrawn I 12,000 for household expenses. He sold his
investments of ¥ 5,000 on 10% premium and brought that money into the
business.

You are required to prepare a Statement of Profit and Loss.

Tl 1 W SO Qedeh ‘T 37 @@l Usid’ § 7@l €, el S 6 31 9w, 2023
i 3FH Y T 1,30,000 o ofx 31 A, 2022 @ @@ O T 1,25,000 o8 38
T Eg & fom T 12,000 emela feul se= ammm T 5,000 & TEst @ 10% Wfmm
T SO 39 TN B | ¥ @ )

TR IGHT ATH—BIT e g & &

17  Give the meaning of the following: 5
{A) Authorised Share Capital {B} Issued Share Capital
(C) Subscribed Share Capital (D) Called-up Share Capital
(E) Paid-up Share Capital
g &1 g G

(A) oTiuFa ster gon (B) fwiftr@ ater ool
(C) wfee s b (D) e sier ool
(E) waq oy gair

18 KK. Ltd. forfeited 400 shares of ¥ 100 each, issued at a premium of ¥ 5 per 5§

share (to be paid at the time of allotment) for non-payment of first call of 3 20
per share. The second and final call of ¥ 20 per share has not yet been called.
Qut of these, 100 shares were re-issued as fully paid for ¥ 110 per share.

Pass necessary journal entries for forfeiture and re-issue of shares.

H.%. . ¥ T 100 v&% F 400 iy Frrer Frma T 5 i oior & Wiftem (R
YA e & T fmar S §) 9x Ream war an, 320 wiy sist @ wem g
TR B/ YTEE T B U Ted B ) I 20 Ry ofyr A i wa siftm g
Tl el srefaa ) 3 | 100 sfew @ T 110 Wiy sy, i wew gw: Frita
T e

FHa B T B T I TLFOING B B AEAE ATAHET Wi B |
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19 R. K. Ltd. invited applications for issuing 20,000 shares of ¥ 100 each. 6
The amount was payable as follows:

On Application .........cecuveeeneee.. T 40 per share
On Allotment ........ccccevinnrennee, I 30 per share
On First and Final call............. I 30 per share

The applications were received for 35,000 shares. Applications for 5,000
shares were rejected and pro-rata allotment was made to remaining applicants.
Money overpaid on application was utilised towards sums due on allotment.

Rohan to whom 2.000 shares were allotted failed to pay the calls money.

Pass necessary journal entries to record the above transactions in the books of
the compnay.

AT &. fa. 7 T 100 &% & 20,000 ofy Frifa el
TR & E 7 JHR | T3 A

HEAET T i, T 40 wiq sfer

FHIEET T e, T 30 wia &g

T g SfH AT 9., T 30 ufa st
35.000 sist & faw o wr gU1 5,000 Sist % sndadt ® 1@ & fe@w o o
qieh AT BT ATITH ST G ST BT 7| SAE_T G AT e I
& YA ST 9X I W % fag e

e e 2,000 sisti &1 ST I of, AT U & TaA HE H Taqha @l
AT Bl TDH H IUUGT TSl B w@l B b (WU AE9TH ST graftedr
EAIE L

20 Prakash Ltd. purchased assets of ¥ 1,92.000 and issued 10% debentures of 6
T 100 each to vendors for purchase consideration.

Pass necessary journal entries in the books of Prakash Ltd. if debentures were
issued:

(i) At par
(ii} At a premium of 20%
(ii1) At a discount of 20%

Show the calculations of number of debentures issued clearly.

65/ESS/4-320-B | 11 % [ Contd...



21

et T 7 T 1.92.000 # Fual w9 & quT aparsil 1 %9 WaOwd b &9 o
T 100 =% &% 10% =g Fifa feu oy

weBIeT fa. @ qrent o staeged e wikfteat e afy g7 st e frifa R
™

(i) W9 98

(i) 20% % Wt X

(iii) 20% & T W
FOE B HE B MO B WEAT F YER B

Prem, Kumar and Aarti were partners sharing profits and losses in the 10
ratio of 5:3 : 2. Their Balance Sheet as on 315! March, 2023 was as under:

Balance Sheet of Prem, Kumar and Aarti as on 315t March, 2023

Liabilities Amount ()| Assets Amount (%)
Capital: Building 2,25,000
Prem 1,50.000 Plant & Machinery 55,000
Kumar 1,00,000 Investments 20,000
Aarti 50.000 3,00.000 | Debtors 25,000
General Reserve 60.000 | Stock 35,000
Sundry Creditors 20,000 | Cash 20,000
3,80,000 3,80,000
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On the above date Kumar retired from the firm. The terms of retirement were
as follows;

(i)  The Goodwill of the firm was valued at ¥ 1,40,000.
(ii}y Stock was revalued at I 34,000.

(iii) Building was revalued at I 3,00,000.

(iv) Investments were sold at a profit of ¥ 5,000.

(v) There was an unrecorded creditor of ¥ 4,000.

Prepare Revaluation Account, Partners' Capital Accounts and Balance Sheet ot
the firm after Kumar's retirement.

TH, PHR 9 AW e €1 TH-2009 B {90 5:3:2 ofue ¥ % ¥
31 I, 2023 @t Sl fRefe feeer Fe g an

M, TAX AR o W fafy faen 31 91, 2023 =

LD it (%) | w=atrat i
T e 2.25.000
el 1.50.000 Wi q AL 55,000
FHT 1,00,000 (REEl 20,000
SIEG| 50,000 3.00.000 | =R 25,000
T T 60,000 | @i 35,000
[RIECECE R 20,000 | s 20,000
3,80,000 3,80,000

Sutien [ofy &l AR 3 w9 ¥ e Pt & @) e Faf @ oo B ower o
(i) ®H W =T w giET T 1.40.000 fem

(i) @ @ T 34,000 X YTRaited fepar &

(iii) waT @ T 3,00.000 9T geaitea e T

(iv) TrE = Repm T 5,000 % @y wx Ream @

(v) T 4,000 & war aAfefead o)

qH @, AR 6 Yol @l 9 HATC B JAgia o 16 G bl R e
ERIEE

OR / sty
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Rohit, Mohit and Sonu were partners in a firm. On 315t March, 2023 they

agreed to dissolve the firm. The Balance Sheet of the firm as on 315t March,

2023 was as follows:

Balance Sheet of Rohit, Mohit and Sonu as on 315t March, 2023

Liabilities Amount (3)| Assets Amount )
Creditors 50,000 Bank 25,000
Bills Payable 15,000 Debtors 30,000
Loan 20,000 Stock 20,000
Capital: Furniture 15,000
Rohit 1,25,000 Land & Building 2,45,000
Mohit 75,000
Sonu 50,000 2.50,000
3,35,000 3,35,000

The assets and liabilities were settled as follows:

(i) Debtors realised I 25,000 and creditors and bills payables were paid at

a discount of 10%.

(ii}y Stock was taken over by Sonu for ¥ 15,000 and Land and Buildings

realised ¥ 3,00,000.

(iif)

(iv)
< 1.00,000.

(v) Realisation expenses were I 6,000,

Furniture was sold for 12,000,

There was an unrecorded asset of T 1,50.000 which was sold for

Prepare Realisation Account, Partners' Capital Accounts and Bank Account.

65/ESS/4-320-B |
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e, ARkT iR 91 e wH A "R 91 31 9, 2023 @ 9 wH B g e
T "eud gl 31 9, 2023 & ®H @ Rafq fewor e ger e

UfA, FRA i d = Rafy fraw 31 w9, 2023 #

AT wist ) | wwufaar T (%)
EEELN 50.000 | % 25,000
T4 faus 15,000 | ¥_R 30,000
EA 20,000 | ©® 20,000
LU HAET 15,000
Tfea 1,25,000 i Y. e 2,45,000
Hifed 75,000
T 50,000 2,50,000
3,35,000 3,35,000

guftal i <garstl &1 U Fe ger ga

(i) IR ¥ T 25,000 997 FC IA TRES A 3@ Foaw B FTEE 10%
T fman T

(ii) W X T 15,000 ¥ =i & frar qan 9f7 T e & T 3,00,000 H TG
EL

(iii) wArET T 12,000 o Jar T

(iv) T 1,50,000 3 us sfafad sufs & B@ T 1,00,000 ¥ F=r W

(v) ¥ 6.000 TEd = |

T I, WEHRR & Yoil @ 9 96 War qarl ot |
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22 From the following Trial Balance of Shakti Traders, prepare Trading Account,

Profit and Loss Account for the year ended 315 March, 2023 and the Balance

Sheet as on that date.

Trial Balance of Shakti Traders as on 315t March 2023

Particulars Amount (%) | Particulars Amount )
Dr. Balance Cr. Balance
Purchases 2,75,000 | Sales 5,20,000
Returns inward 15.000 | Returns outward 6,000
Carriage 12,400 | Creditors 62,000
Debtors 1,10,000 | Commission 1,000
Printing and Advertising 10,500 | Capital 2,00,000
Opening Stock 36.000
Cash in hand/Bank 15,900
Drawings 15,000
Salaries 2,200
Fixed Assets 3.00.000
7,92,000 7,92,000

Adjustments:

(i) Stock as on 315t March, 2023 was T 60,000.

(1) Depreciate tixed assets @ 10% p.a.

(iii) Commission earned but not received amounts to I 400.

(iv) Interest on capital is allowed @ 10%.

(v) 900 is charged as interest on drawings.
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s 239 & Frafafiad aaue € 31 99 2023 = 9919 8 9 99 & o

‘YT TE, @-2 @ 9 S8 o & Rufa faeo @R st
TR 38 1 qeue 31 un 2023 &

T Tt ®) | Tt )
AW A9 I SN
ER) 2,75,000 | fepa 5,20.000
Tt aroE 15,000 | sT&r aToe 9,000
=T 12,400 | & 62,000
TEr 1,10,000 | HHis™ 1,000
Bug 9 fasme 10,500 | gt 2.00.000
smihie wie 36,000
TRY TS [AF 15,900
T 15,000
EEkl 2,200
T wataat 3.00.,000
7,92,000 7,92,000
AR :

() 31 W, 2023 F =6 T 60.000 T |

(i) IR "9t 9X 10% a1t 37 9 B9 &l AT B S0

(iii) s guifsta HHeE T 400 ¥

(iv) goit 9T 10% Tt X ¥ = foar smam)

(v) amezor 9T T 900 %1 = wunieg fpan s
OR / 3
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Following is the 'Receipts and Payments Account’ of Modern Club for

the year ending 315t March, 2023.

Receipts and Payments Account of Modern Club
for the year ending 315 March, 2023

Receipts Amount ) | Payments Amount (3)
To Balance b/d 2,300 | By Salaries 24,000
To Subscriptions 56,400 | By Sundry Expenses 3,600
To Interest 300 | By Investments Purchased 30.000
To Donations 6,000 | By Newspapers 750
To Miscellaneous Incomes 430 | By Balance ¢/d 7,180
To Sale of Grass 100

65,530 65,530

Additional Information :

(i)  Subscription outstanding on 315t March, 2023 was T 6,000.
(ii) Salaries outstanding on 31 March, 2023 was ¥ 2,500.
(iii) Depreciate furniture by 20% p.a.

(iv) On 315" March, 2022 the club had investments worth ¥ 12,000 and
furniture ¥ 10,000.

Prepare 'Income and Expenditure Account' for the vear ended 315 March,

2023 and a 'Balance Sheet' as on that date.
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A= 31 5/, 2023 B G T A 99 % g wred @ w5 mia 1| e @

o T %)

W ¥ WA T OFEE ' 31 A4 2023 ® ' 9o & g

Piiae it ®) | yam i )
S ST @A 2,300 | 3= 24,000
=3t 56,400 | feferer == 3.600
=T 300 | s wa 30,000
B 6,000 | TwTETX T 750
fafqy ema 430 | 9 oW W ™ 7,180
o @l feshd 100
65,530 [ 65,530

st T

(i) 31 =, 2023 H 3w 9 T 6,000 ol

(ii) 31 =™, 2023 % aEd 994 T 2,500 am

(iii) wAEE 9T 20% @i <X o W @O E

(iv) 31 =, 2022 = w9 & Frag T 12,000 1 b= T 10,000 973 & 9

31 A, 2023 & gu B 9 99 & 60 eT-=g grar oiie 39 oty | Rafa

faaoor darT STy
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SECTION - B
g - q

OPTION -1
e - 1

(Analysis of Financial Statements)

(fiar faaort =1 fawerao)

23 Give the meaning of 'Analysis of Financial Statements'. 1

Tadg fqaeen % faseuor &1 a1 g

24 State any three limitations of accounting ratios. 3

‘FEiET Ul B el e Amell w1 gweE B

25 (a) Calculate Liquid Ratio' from the following data: 2%+ 2%=5

Amount ()
Cash e 50.000
Bills Receivable ...oooeeeciiieiiiieeieeenenn. 30,000
Sundry Debtors ... 40,000
INVENLOLY et eeeeneeens 20,000
Prepaid INSUrance ........ocooociiiivieiiieeiiineieieeene 5,000
Sundry Creditors ..o, 60,000
Bills Payable.........ccccooveiiiiiiiieeeeeceeennn. 40,000
Outstanding EXpenses ........ccoccevvvvnicenienionnicnenns 3,000

(b) Calculate 'Trade Payables Turnover Ratio' from the following data :

Amount ()
Cash Purchases ............cocoviiiiiiii 2,00,000
Total Purchases .....coooooveeeveeiveiieciieeeiecieennnnn. 6,08,000
Opening Creditors .......coooeeiviirviiicee e 50,000
Closing Creditors .....c..occveevvinnierricnieee e, 60.000
Opening Bills Payable ..........ccooooiniinn 20,000
Closing Bills Payable ......c.ccocovviiniieniciennnee, 30.000
Purchases Returns ......coocooeeiviiiiiiiieiiiicceinns 8,000
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(a) P oribsl § ‘aXd oUW T BT

i ()

IS e 50,000
1211 B = L = U SRS O USRS SU PSR 30,000
IS BT o 40.000
BT ettt 25,000
T Ao 5,000
TR BRI e, 60,000
T RITT e, 40,000
FTET T «ooveiireiii e ee e aee vt ee e e e e e aeeraanebaneaes 3,000
(b)y T stipsi § ‘=R < Ed SR B AT BT
T )

TEE B eeveeeroreeeroereeeieees e ereenseerner oo 2.00.000
s S, 6.08.000
STTTHE AT et et 50,000
FIRTT TEIT oo, 60,000
FTOME T RITT oo e 20,000
ST BT U oo e 30,000
T TTTE oo ot e er e eeerenes e 8.000

26  Prepare Comparative Statement of Profit and Loss from the following:

Particulars Note 315t March | 315t March
No. 2023 ) 2022 ()
Revenue from operations 15,00,000 10,00,000
Employee benefit expenses 10,00,000 8,00,000
Other expenses 60,000 1,00,000
frefafaa & garees av-gitt fewr dar #itm
T e 31 A 31 &
. 2023 ) 2022 )
e § o™ 15,00,000 10.00.000
FHHEATN TH 10,00,000 8,00,000
T =g 60,000 1,00,000
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27 X Ltd. made a profit of ¥ 5,00,000 after considering the following items:

Amount (%)
(1) Goodwill written oft ..., 5,000
(i1} Depreciation on Fixed Assets .........ccccoeceeeenee. 50,000
(ii1)) Loss on sale of machinery ..................ocoeeei. 20,000
(iv) Gainonsaleofland ..........ccccoveiiiiiiiiineennen. 7,500
Additional Information :
31-3-2023 31-3-2022
Amount (3) | Amount X)
Trade Receivables 78,000 52,000
Prepaid Expenses 3,000 2,000
Trade Payables 51,000 40,000
Outstanding Expenses 20,000 34,000

Calculate 'Cash Flows trom Operating Activities'.

T 1. 9 e 18 o wwH A @ % 9e T05.00,000 & Ay siia fear

T R)
(i)  STYRTRIT B TS BT .ol 5,000
(i) T FORTE T BT oo i, 50,000
(iii) FoT o Tersba TT BT oo 20.000
(V) A E BT TT AT e 7,500
HiafEm g
31-3-2023 31-3-2022
i ) T ®)
YT qr 78,000 52,000
EEd @ 3,000 2,000
YR 3 51,000 40,000
T = 20,000 34,000

‘g BhaTeT ¥ s A’ & TUET BT |
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23

24

26

27

OPTION - 11
CC o S ||

(Application of Computers in Financial Accounting)

(Fgt ® @ w@wa § seE)

Define a 'Data Base'.

T 99 & G HifAg

What 1s a 'Pivot Table'? State any five advantages of Pivot Table for the
benefit of users.

ez |l & 37 Swedtel & @v g fuae el & e ufa el
IoAE BT |

State the steps that are considered while importing data from a text-file.

TH TR BEA 9 SRI B AW b MU AN ¥ W T A BIAl @ I’
El

Give the meaning of "Pay-roll Accounting'. State any four components of
deductions used in Pay-roll Accounting.

T AGHT BT A 2N | T @b | TG Bel(cdl & e | a1 aehl o
IoAE BT |

Explain any three advantages of using Graphs/Charts.

TE/ETE & T 6 B a4 @19 GHAET |

h
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This Question Paper consists of 32 questions [Section-A (22} + Section-B (5 + 3)] and 24 printed pages.
W AT A 32 WS [WUE OT(22) + WIS F(5+5)] qUT 24 ghA T ¥

Roll No. Code No. 65/ESS/4
ATFATE FE .
seTAe  |(C
ACCOUNTANCY
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{Principles and Practice of Financial Accounting)

(flar @i ¥ R @ =9R@n)

(320)

Day and Date of Examination

(whem =1 R 3 A=)

Signature of Invigilators 1.

(il % sEnaw)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper Lo verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 65/ESS/4, Set—[C| on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu. Punjabi, Bengali, Tamil. Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkan, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language vou have chosen to answer in the box
provided in the Answer-Book.

{b} If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

65/ESS/4-320-C | 1 % [ Contd...



A SR
1 gdendi 95795 & TR Y I AT ATHAS o7asy fored |

2 U WSA-UF B W o 6 UsT-US % Fd gsSf aur ugHi S & W ¥ fae wem
U % HId S BW T IH A F S W T A {6 ueT wiw w1 A T

3 IO-gfam § wan-fas e stuen Midw wel & ofafea w8 0 sTmHie e WY
e B Y BETET S|

4 U STR-gRAE T U9 B s qew 65/ESS/4, de-[c]

5 (@) 9T-U daw welyeiTsn Team ¥ ¥ e o), ot onw 9 @ e & 7E e 1 o
¥ IR T ued ¥

ssh, Bl o, domE, &, at, Seaes, e, dE, 938, SReEn, IR,
i, AT, o, U, By, da o R

P STX-gRaeT ¥ Ru o arem o fad ®6 e frw ww § oo e w ®

(@) afy o & wd ofuet & arfafieg fFRl o T o Sox o ¥ @ wesl & auee
¥ 29 awtt Ffeat / wafaal w R Faa smear e

65/ESS/4-320-C | 2 % | Contd...



ACCOUNTANCY
A

(Principles and Practice of Financial Accounting)

(fhim @ * e W ZEer)

(320)
Time : 3 Hours] [Maximum Marks : 100
T 3 A [qUTi 100
Note : (i) This Question Paper has twe Sections - Section 'A’ and Section 'B'.
(il Attempt all questions of Section 'A’, Section 'B' has fwe options. Candidates
are required to attempt questions from one opfion only.
(iit) Each question from Question Nos. 1 to 9 has four alternatives - (A), (B),
(C) and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in yvour Answer-Book against the
number of the question. No extra time is allotted for attempting multiple-
choice questions.
fRoT ¢ () WU S H A B E @B W TH @S A
(i) @S ‘W & TR U B T BN T WE W H A fawen ¥ alenfai
Bl o TF fww & wsAl I 29 F
(ii) 997 91 1 ¥ 9 9% & U9 U H WX fOwed — (A). (B), (C) dar (D)

E, T 9 U waitue SwgE ¥ O fased # ¥ wE ST gF qdr st
SRR 8 Ty @ % WA SOt fae | gefamed v & R sifafem
TR & fer S
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SECTION - A
|giE - A

1  Which of the following statement relates to 'Capital Receipts'? 1
(A) These receipts that arise during the normal course of business.
(B) These receipts are treated as items of income of the business.
{(C) These receipts are not treated as items of income of the business.
(D) These receipts are recurring in nature.
= o 9 fFE ®ue @ "ey e witaal § €7
(A) T Wiqal =ewmE & THH 9@ o S Bl £
(B) uE witqal =oaama & o & 08 91 @l & |
(C) uE Wiiqw =aer| ™ 1 ol & ¥ 2} Al AR £
(D) == wiftar seds wHiy @ = )

2 A company not having any limit on the liability of its members is called: 1
(A) Company limited by Shares
(B} Company limited by Guarantee
(C) Unlimited liability company
(D) Company created under Section-25
UH ol f57Heh HE®@il o qael i BiE qE (el T2 ¥, wEan ¢ o
(A) Sl ZIO AvE B
(B) T SR Hithe weHl
(C) wEtHa STl &
(D) ar 25 & araia Ia AT

3  Sacrificing Ratio is calculated as: 1

{A) New Ratio — Existing (old) Ratio

(B} Existing (old) Ratio — New Ratio

(C) Existing (old) Ratio — Gaining Ratio

(D) Gaining Ratio — Existing (old) Ratio

T ST % O B E -

(A) 71 U — IEEE (AT U

(B) =T (qUA) SAR - T S

(C) T (GUAT) AT — AATH ST

(D) i@ U — qAwE (AT ST
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4  The debentures which can not be converted into shares of the company are
known as:
{A) Redeemable Debentures
(B) First Debentures
(C) Registered Debentures
(D) Non-convertible Debentures
UH %o T &A1 & il o ufiatda & fen s 9@an ¥, ®Ee €

(A) olreT FoTg=r

(BY 999 =oaw

(C) it Fora=t
(D) e Foras

S  Which of the following is not a feature of partnership?

(A) Tt is formed by an agreement between the persons who agree to carry on
business.

(B) The partners agree to share profits in the agreed ratio.

(C) No partner can transfer his/her share to any one without the consent ot
all other partners.

(D) The liability of each partner is limited to his/her share of profit in the firm.
e & & =9 o "sErd @y faewar T8 E 7

(A) THH TS I GEER] & 7Y Th G 9 Sl & W Uh Sa9dg 9w % 0
TEAq U B

(B) wERR @i &1 fovr uw Mg egee ¥ 9 9T gehd B E

(C) =g W AEREN U4 3i91/fed &1 o} aEEr) % g2aid & fon fedr o= =l
B T T8l H bl

(D) YE% WEER & IS B § Had @Y % Su% ofy a% dikg S E
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6  When the capital of partners is fixed, current account of partners are opened 1

to record all adjustments.

Which of the following adjustments is recorded on the 'debit side' of partner's

current account?

(A) Interest on Capital

(B} Interest on Drawings

(C) Salary

(D) Profit and Loss Appropriatioan A/c (Share ot Profit)

g "EEr & §e T E E, @ o WeR & HErEieT 6 9E i 6 A S
AR Wl @i S | B A 8 e 3 wEe @l glafte 9EEn & 9 @ &
M g H Bl Sl F 7

(A) 9o 9T =™
(B) e 9T =
(C) =

(D) @v T T [aF=eE @ (@ @1 e

7  In the absence of Partnership Deed interest on loan is charged at the rate of: 1
EER] dow H SRRy ¥ w0 U @ yuia O @ 5 E
(A) 10% (B) 8%

(C) 6% (D) 12%
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8  Which of the following statements is not related to a 'Public Compnay'? 1
(A) There is no restriction on transter of its shares.
(B} There is restriction on transfer of its shares.
(C) It can invite public to subscribe to its shares.
(D) It must have at least three directors.
1 & 9 B T P grEwie e ¥ et T8 R
(A) IOk ofell & T YT B Ulqay &l BTl
(B) 38 9l % sy uX WiqEs s ¥
(C) =E waT # ofvEM % U P HT awar ¥
(D) z99 &9 § &9 99 ey 2T AatEe ¥

9  Court may order a partnership firm to be dissolved in which of the 1
following cases 7

{A) When a partner transfers his/her interest in the firm to a third party.

(B} When one of the partner gives a notice in writing to the other
partners.

(C) When the business becomes unlawtul.

(D) When all the partners excepting one decide to retire from the
firm,

fr & & fr Rafa & <A@ AEE B FEOE BRI T HHAT ¢ 7

(A) 919 BT TEER B ® oo feg fedl 9y e & saig &Y )

(B) 99 BIE TH UEHER Y GEERI & g gaa 3|

(C) =9 =eE™ TX-FHFFT & T e

(D) W9 %o TS WEER B BISHL qMie AW WEER B ¥ qagd o
qrEd

10 State any three differences between Provisions' and 'Reserves'. 3

Ty’ AR Al ¥ Rl dF @idRl W See@ S|

11  State any three features of Not-For-Profit Organisations'. 3

SETART WSl B fEE 99 fasmaret @& Isww Wil
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12 Ditferentiate between 'Fixed Capital Accounts and Fluctuating Capital Accounts' 3
on the basis of:
(A) Adjustments
(B) Fixed Balance
{C) Balance
et G @@ o aftadade G m’ § Fefafad snard o sia St
(A) A
(B) Wl §iW
(C)

13  Amita, Benu and Cheenu are partners sharing profit-and losses in the ratio 5

of 3:1:1. After the final accounts have been prepared. it was discovered
that interest on drawings @ 5% p.a. had not been taken into consideration.

The drawings of the partners were:

AMIA . T 1.00.000
Benu .ooovvovieiievinn T 75,000
Cheenu ....uvevvvennnn® 50,000

Give the necessary adjusting journal entry. Show yvour working notes clearly.
ST, 9 I N WERR £ S 30 1: 1 % g H WIS BT faHe i
e @ T & usng I5 T 50 f5 omeTwr w¥ 5% i <X ¥ =y e A
T ¥ WEER % S O -

ST e T 1,00,000
i (TR T 75,000
5 i QU T 50,000

HAYTH IS & 00 qomar wiare SR o & faely o weear 9 yeiyia
EAIE L
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14 Nikhil. Pooja and Reema entered into partneship on 15t April, 2022 to share 5

profits and losses in the ratio of 5:3:2. Nikhil guaranteed that Reema's
share of profit after charging interest on capital @5% p.a. would not be
less than I 35,000 in any year. Their capitals were Nikhil - ¥ 4.00,000;
Pooja - T 2,00,000 and Reema - ¥ 1.00,000. The profits for the year ended
March 315, 2023 was I 1,60.000 before providing interest on capital.

Prepare Profit and Loss Appropriation Account for the year ended 315 March,

2023.

ffea, g ok T 1 ofi|, 2022 & gEE 9 9RE g0 3@ A3 e
FII 5:3:2 an) Fiiaw ¥ I @ wE TRed S B R W Ay & @ | SHet
A Pt W 5% affe a7 & = & & 9% T 35,000 § %9 T2 2 S §E
g1 : faw — T 4,00,000; 9= — ¥ 2,00,000 3T @1 — ¥ 1,00,0001 31 91, 2023
B T B A T F 0 g o e o # e @ T 1,60,000 o)

31 |, 2023 ® g TR A 99 % U drH—ei b @ aar sl

15 Prateek who keeps his books on Single Entry System, tells vou that his 5

capital on 313" March, 2023 was ¥ 1.30,000 and on 315t March, 2022 was
< 1,25.000. He has withdrawn ¥ 12,000 for household expenses. He sold his
investments of ¥ 5.000 on 10% premium and brought that money into the

business.

You are required to prepare a Statement of Profit and Loss.

Tl o ST S QI U 3 e TEfa ¥ TE g, e g f 31 |, 2023
i 3FH Y T 1,30,000 o ofx 31 A, 2022 @ @@ O T 1,25,000 o8 38
R Ed & faw T 12,000 smsfa feul 3o amw T 5,000 % Faer @& 10% diftew
X q9HT 3@ TR B FaEd ¥ @ R

STeh] IThT ATH—EI faeor S| &4
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16 On 15 April, 2019 a company purchased plant and machinery for ¥ 2,00,000. 5

On 1% January, 2020 it purchased a new machine for ¥ 10,000 and on
15t October, 2020 another machinery was purchased for ¥ 20,000. On 15t July,
2021, a part of the machine whose book-value was ¥ 30,000 on 15 April, 2019
was sold for ¥ 16,000. Depreciation on plant and machinery is charged @ 10%
p.a. on straight line method. Account books are closed every year on 315 March.

Show the Plant and Machinery Account from 15t April, 2019 to 315" March,
2022.

1 a1, 2019 1 W& F = < 2,00.000 ¥ U wie T qAE @ 1 e 2020
@t T 10,000 H 0% 73 AT @R o 1 amrzaz 2020 %1 T 20,000 ¥ 0% i wsi
T 1 e, 2021 @ 90 @ ue e free gae e 1oswe, 2019 @
T 30,000 =m, T 16,000 ¥ 39 f@ M @i @ A9E W 10% T I ¥
T @ uSf g g A @ S wen e gided 31 9 @y dg @l
S E

1 arder, 2019 3 31 9/, 2022 9% & i T& AT TR 9154 |

17 Give the meaning of 'Debenture’. Explain the types of debentures on the basis 5
of 'Security'.

FOAA H1 ord AT GRET F MR W WOIA B YR THHRY |

18 A.B. Ltd. forfeited 500 shares of ¥ 100 each, I 75 per share called up, issued 5

at a premium of ¥ 10 each (to be paid at the time of allotment) for non-payment
of first call of ¥ 20 per share. Out of these 200 shares were re-issued at I 75
paid up for I 60 per share.

Pass necessary journal entries for forfeiture and re-issue of shares.

Td). . 7 100 s & S00 siyr 9 Wy arag Tt I 75 wig Sier A T
fae T 10 Wiy sie1 & WihEe (e oM smaed 9x M1 an) ux it fean
T AT 9 BT Q) 39 Siel 9X T 20 Wi sier wl wem Al Wi @ Y
T gom Wl 3 F ¥ 200 sisf @ T 60wl sfwr, T 75 yed w g fifia
HwT

FHa B T B T I TLFOING B B AEAE ATAHET Wi B |
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19 R. K. Ltd. invited applications for issuing 20.000 shares of ¥ 100 each. 6
The amount was payable as follows:

On Application ......c.ccceeverennee 3 40 per share
On Allotment ........ccccevinnrennee, I 30 per share
On First and Final call............. I 30 per share

The applications were received for 35,000 shares. Applications for 5,000
shares were rejected and pro-rata allotment was made to remaining applicants.
Money overpaid on application was ufilised towards sums due on allotment.

Rohan to whom 2,000 shares were allotted failed to pay the calls money.

Pass necessary journal entries to record the above transactions in the books of
the compnay.

Jr. ¥ 1. 3 T 100 v&@® F 20,000 iy Frifra feul
Tl 1 A e ver | 33 e

AEET T oo, T 40 wiy afr

AT TT oo, T 30 gfq =g

e it I W T 30 wha et
35.000 sish & faw e wr gU1 5,000 Sist % sndet ® 1@ & f@w mw o
qT(eh SISTETT] bl STIUTTS STTHTT TT AT [T N1 SITeiE WX U ey T
B T SEET YT o9 Y & [0 fear T

e BT 2.000 SioN BT STEET M o, AT T BT IO B H TR T
FHI B TWH H JUUERT WA B G B b AU AE9E T yrareat
EAIE L

20 Prakash Ltd. purchased assets of ¥ 1,92,000 and issued 10% debentures of 6
% 100 each to vendors for purchase consideration.
Pass necessary journal entries in the books of Prakash Ltd. if debentures were
issued:
(i) At par
(i1} At a premium of 20%
(ii1) At a discount of 20%

Show the calculations of number of debentures issued clearly.
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21

wareT 1. T T 1,92.000 P gulaai w3 @ qon fapareti = w9 uiawd & ®=9 o
T 100 v & 10% oy Frifg e o)

weBIeT fa. @ qrent o staeged e wikfteat e afy g7 st e frifa R

TR

(i) @ T™ W

(i) 20% & NiFEw 9T

(iii) 20% % ¥ W

O H G & AT B WEAT ¥ WERE Hig)

From the tollowing Trial Balance of Shakti Traders, prepare Trading Account, 10

Profit and Loss Account for the year ended 313 March, 2023 and the Balance

Sheet as on that date.

Trial Balance of Shakti Traders as on 315t March 2023

Particulars Amount (%) | Particulars Amount )
Dr. Balance Cr. Balance
Purchases 2.75.000 | Sales 5.20.000
Returns inward 15,000 | Returns outward 9,000
Carriage 12.400 | Creditors 62,000
Debtors 1,10,000 | Commission 1,000
Printing and Advertising 10,500 | Capital 2,00,000
Opening Stock 36.000
Cash in hand/Bank 15,900
Drawings 15,000
Salaries 2,200
Fixed Assets 3,00,000
7,92,000 7,92,000
12
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Adjustments:

(i)  Stock as on 315t March, 2023 was T 60,000.

(1) Depreciate tixed assets @ 10% p.a.

(iii) Commission earned but not received amounts to I 400.

(iv) Interest on capital is allowed @ 10%.

(v) T 900 is charged as interest on drawings.

TR ¢ % FrAfaiga daue € 31 | 2023 w1 8919 &89 9 a9 % g

AR G, WY-Bi @ar 9 g9 9t @ Rafy e dar Sikm)
TR 338 |1 Tee 31 W 2023 |

T wiier () | faeo T )
N T S
wa 2,75,000 | femma 5,20,000
aTiats aragr 15,000 | amar o 9,000
ST 12,400 | 9= 62,000
IR 1,10,000 | wise 1,000
B 9 fagme 10,500 | g=ir 2,00,000
ity =id 36,000
T Uhs/d® 15.900
FIETT 15,000
ERE 2,200
W "ataar 3,00,000
7,92,000 7,92,000
AN

(i) 31 7\, 2023 @ ww T 60,000 o |

(il) T gutaal X 10% s 2T | B @) TOFET B S|

(iii) o9 IURTT HHEH T 400 T
(iv) s T 10% aifiies 3T & =1 faar s
(v) ameer 9T T 900 %1 = gy frar S|
OR / st
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Following is the 'Receipts and Payments Account’ of Modern Club for

the year ending 315t March, 2023.

Receipts and Payments Account of Modern Club
for the year ending 315 March, 2023

Receipts Amount ) | Payments Amount ()
To Balance b/d 2,300 | By Salaries 24.000
To Subscriptions 56,400 | By Sundry Expenses 3.600
To Interest 300 | By Investments Purchased 30,000
To Donations 6,000 | By Newspapers 750
To Miscellaneous Incomes 430 | By Balance ¢/d 7.180
To Sale of Grass 100

65,530 65,530

Additional Information :

(i)  Subscription outstanding on 315t March, 2023 was T 6,000.
(ii) Salaries outstanding on 31 March, 2023 was ¥ 2,500.
(iii) Depreciate furniture by 20% p.a.

(iv) On 315" March, 2022 the club had investments worth ¥ 12,000 and
furniture ¥ 10,000.

Prepare 'Income and Expenditure Account' for the vear ended 315 March,

2023 and a 'Balance Sheet' as on that date.
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22

A= 31 9, 2023 H g9 B AW 99 % fU AR /e @ mia 1| e @

o ¥
TREA ¥ H MR T P "W 31 9 2023 Foae o F

it T ®) | g 7tar ()
S A W 2,300 | 3= 24.000
g 56,400 | fafaer =g 3.600
= 300 | Fras wa 30,000
Ei| 6.000 | FAmETT = 750
fafay e 430 | 99 o & ™ 7,180
I @ fenha 100

65,530 [ 65,530
A gE

(i) 31 =, 2023 = arEw °@qr T 6,000 o1

(iiy 31 =, 2023 @ aEm Faq T 2,500 e

(i) wAET W 20% aibE T § TE a2
(iv) 31 99, 2022 # @9 % Fay T 12,000 T wAEe % 10,000 79 & g1

31 9/, 2023 %1 guTd 89 a9 99 % U ‘sma—emg @rar S 39 ot w0 Rufa

feraoor dare @it

Prem, Kumar and Aarti were partners sharing profits and losses in the 10

ratio of 5:3 : 2. Their Balance Sheet as on 315! March, 2023 was as under:

Balance Sheet of Prem, Kumar and Aarti as on 315! March, 2023

65/ESS8/4-320-C |

Liabilities Amount (%) | Assets Amount (%)
Capital: Building 2,25,000
Prem 1,50,000 Plant & Machinery 55,000
Kumar 1,00,000 Investments 20,000
Aarti 50.000 3,00,000 | Debtors 25.000
General Reserve 60,000 | Stock 35,000
Sundry Creditors 20.000 | Cash 20,000
3,80,000 3,80,000
15 % [ Contd...



On the above date Kumar retired from the firm. The terms of retirement were

as follows:

(i) The Goodwill of the firm was valued at I 1,40,000.
(ii}y Stock was revalued at I 34,000.

(iii) Building was revalued at I 3.00,000.

(iv) Investments were sold at a profit of ¥ 5,000.

(v) There was an unrecorded creditor of ¥ 4,000.

Prepare Revaluation Account, Partners' Capital Accounts and Balance Sheet of

the firm after Kumar's retirement.

T, PARX 9 AT WERIK &1 9 A-21 & faumee 5:3:2 agua ¥ & 2
31 |, 2023 & 39 Rufy faer = aer @

™, T AR o W fafy fae 31 9, 2023 &

LRI wisnt ) | wwufaar T (%)
gt EEL 2,25,000
el 1.50.000 @ q AL 55,000
FUX 1,00,000 e 20,000
SIEGI| 50,000 3.00.000 | =R 25,000
qH §94 60,000 | =i 35.000
faferer weR 20,000 | I3 20,000
3,80,000 3,80,000
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Iqded fafs @ A 3 v ¥ ¥ fgfe @ o g9 el B ool e e

(i) wH H =R W gt X 1,40,000 fear

(i) =& @ T 34,000 9 YHwiTna fHm =

(iii) weT @ T 3,00,000 9T YAHgAiRa fmar Tl

(iv) Traer = fama T 5.000 & w9y 9 T m)

(v) T 4,000 & d=eTe afafaa 9

qAHrEB T, WEER & Yol W T PAR D gaTgra & 915 BH @ Rt @

T M|

OR / 3y

Rohit, Mohit and Sonu were partners in a firm. On 315 March, 2023 they

agreed to dissolve the firm. The Balance Sheet of the firm as on 315 March,

2023 was as follows:

Balance Sheet of Rohit, Mohit and Sonu as on 315t March, 2023

Liabilities Amount (%) | Assets Amount (%)
Creditors 50,000 | Bank 25.000
Bills Payable 15.000 | Debtors 30,000
Loan 20,000 | Stock 20,000
Capital: Furniture 15,000
Rohit 1,25,000 Land & Building 2,45,000
Mohit 75,000

Sonu 50,000 2,50,000
3,35,000 3,35,000

65/E55/4-320-C | 17
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The assets and liabilities were settled as tollows:

(i) Debtors realised ¥ 25,000 and creditors and bills payables were paid at

a discount of 10%.

(i} Stock was taken over by Sonu for ¥ 15,000 and Land and Buildings

realised ¥ 3.00,000.

(iii) Furniture was sold for ¥ 12,000.

(iv) There was an unrecorded asset of I 1.50,000 which was sold for
T 1.00,000.

(v) Realisation expenses were I 6,000,

Prepare Realisation Account, Partners' Capital Accounts and Bank Account.

e, #ifed ofit 91 % B9 ¥ 9ER A1 31 9, 2023 ® 3 B9 B g9 B

X "eAd I 31 A, 2023 B wH @ Ruid faere fe yer

Ufea, Afga A q w0 Rl feeor 31 w1, 2023 i

Taam Tt ) | wefai i )
R 50,000 | 9% 25,000
T4 fau= 15,000 | S_R 30,000
Eadl 20,000 | €= 20,000
TS HTER 15,000
fea 1,25,000 iy S W 2,45,000
it 75.000
T 50,000 2,50,000
3,35,000 3,35,000
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guftal i <gamstl &1 Fues Fe ger ga

(i) e ¥ ¥ 25,000 99¢@ T qA AL G 27 fausi & ymaE 10% 98
T TR T

(i) @ A T 15000 # =fe & forar qan gt 3 w57 € T 3.00,000 &1 g
T

(iii) WA T 12,000 ¥ F=r TR

(iv) T 1,50,000 @ us sifafea dufa & £ T 1,00,000 § =1 @0
(v) 6,000 =g =@ |

TEA! WM, W & Yol @R 9 I @ar JGT B
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SECTION - B

Hig — 9

OPTION -1
Eer A |

(Analysis of Financial Statements)

(frim oo = faeemon)

23 Give the meaning of 'Analysis of Financial Statements". 1

T faereon & fasawor @ ot Sl

24  State any three limitations of accounting ratios. 3

WEHT Sl W fhel d AHEe @ SwE B

25  Calculate 'Current Ratio' and "Working Capital Turnover Ratio' from the 5

following data:

Amount ()
Cash o i iictrecnrecnrerrecnreerensensnscnrecnneenneenns 20,000
Bills Receivable ..o, 20,000
Sundry Debtors ... 50,000
INVENTOTIES oo 25,000
Prepaid Insurance.........cooiii . 3,000
Sundry Creditors .....ocoooviieee e 40,000
Bills Payable .....cccccovievviii e, 30.000
Cost of Revenue from operations ..............cc....... 3.50,000

65/ESS/4-320-C | 20 % [ Contd...



e orimst @ T o A FRNW IS oEd oI U @l WA SifTe

st ()
L3-S USROS 40,000
T T e, 20,000
= 3R, 50,000
TEE  cvvovvoereieeesssiesssssssssse s s s s san s 25.000
TITT AT ..ottt eesa et ree e 5,000
R TR e 40,000
U I e, 30,000
b 1215 A S A L L= A o 15 AU OO UROO 3.50.000

26  Prepare Comparative Statement of Profit and Loss from the following: 5
Particulars Note | 315t March | 31%¢ March
No. 2023 () 2022 )
Revenue from operations 15,00,000 10,00,000
Employee benefit expenses 10,00,000 8,00,000
Other expenses 60,000 1,00.000
frfafaa & garees a-gitt feor dar #ifm
famm A 31 99 31 7@
. 2023 ) 2022 )
i @ o™ 15,00,000 10.00.000
HEART WA =T 10,00,000 8,00,000
I =g 60.000 1,00,000
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27 X Ltd. made a profit of ¥ 5,00,000 after considering the following items:

Amount (%)
(1) Goodwill written oft ..., 5,000
(i1} Depreciation on Fixed Assets .........ccccoeceeeenee. 50,000
(ii1)) Loss on sale of machinery ..................ocoeeei. 20,000
(iv) Gainonsaleofland ..........ccccoveiiiiiiiiineennen. 7,500
Additional Information :
31-3-2023 31-3-2022
Amount (3) | Amount X)
Trade Receivables 78,000 52,000
Prepaid Expenses 3,000 2,000
Trade Payables 51,000 40,000
Outstanding Expenses 20,000 34,000

Calculate 'Cash Flows trom Operating Activities'.

T 1. 9 e 18 o wwH A @ % 9e T05.00,000 & Ay siia fear

T R)
(i)  STYRTRIT B TS BT .ol 5,000
(i) T FORTE T BT oo i, 50,000
(iii) FoT o Tersba TT BT oo 20.000
(V) A E BT TT AT e 7,500
HiafEm g
31-3-2023 31-3-2022
i ) T ®)
YT qr 78,000 52,000
EEd @ 3,000 2,000
YR 3 51,000 40,000
T = 20,000 34,000

‘g BhaTeT ¥ s A’ & TUET BT |
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OPTION - II

e — 11

(Application of Computers in Financial Accounting)

(@ 1 e dEie |5 IeEm)

23 Define a 'Data Base'. 1

T AW B GCATING BT

24  What is a 'Pivot Table'? State any five advantages of Pivot Table for the 3

benefit of users.

T Al ® §? IwEmdarel & @M g fae §Rel & [l a @ @
I BT |

25 Give the meaning of "Workbook and Work-sheet'. Explain the following 5
Work-sheet operations:
{A) Movement of cell pointer
{B) Short-cut-Menu

(C) Entering Data into cells

‘TJhgE ofit ‘qhsie w e dfMU T adeie wEEAl B aHETE:
(A) UHIE YaH H T

(B) & & WY

(C) verel H SreT Wiaies

65/ESS/4-320-C | 23 % [ Contd...



26 Give the meaning of 'Pay-roll Accounting'. State any four components of
deductions used in Pay-roll Accounting,.

V-t Wi w1 oref IR ) R SR o Yge sl % Reel art gedt w1
IeA@ BT

27 Explain any three advantages of using Graphs/Charts.

TE/ETE & T 6 B a4 @19 GHAET |

65/ESS/4-320-C | 24 %
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